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Comprehension 
 

         Snowman 
 

Mia is building a snowman. The 
snowman is bigger than her. She 
has to step on a chair to put on its 
hat. Snowman has a carrot nose 
and a scarf around its neck.  

 
 
 
 

 

 

Q1. Who is building a snowman? 

Ans.  ____________________________________________________________.  

Q2. The snowman is _________ than Mia. 

Ans.  ____________________________________________________________. 
  
Q3. She has to step on a ___________ to put on its hat. 

Ans.  ____________________________________________________________. 
 
Q4. Snowman has a carrot _________. 

Ans.  ____________________________________________________________. 
 
Q5. It has a _______ around its neck. 

Ans.  ____________________________________________________________. 
 
 

 

 


